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01. Headquartor of ISRO is at (GEN U I .......... JA AR.)
01. Thumba (1) 02. Bengaluru (ST&E) o)o)o)e
03. Shriharikota (sfigierier) 04. Ahmedabad (3TEHEETR)

02. _ layerabsorbs ultravoilet rays from the Sunrays.
GATURA AUTR AT TR0 ... ST 2R I o,
01. Ozone (3EA)
02. Oxygen (3ifera=i) 0000
03. Nitrogen (ATEErH)
04. Carbon diaoxide (ShTEH SEATFATEE)

03. An artificial satellite is used for message transformation.
............ T HH ITULTAT IUTRT HEITTEATHATS! Shedl STral 5000
01. INSAT (3752) 02. Aryabhatta (3TE%ee)
03. Rohini (Wfguft) 04. Bhaskar (&)

04. Ozonelayerispresentin __ ofthe atmosphere.
............... T 9T SIS T OR SATeesdl
01. Troposphere (AUTER) 02. Stratosphere (fe@mR) 0000
03. Mesosphere (AEATER) 04. lonosphere (SATEATER)
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05. is dissolved in water for purification of water.

AT FHSTqehIehiuT UATETE! OI0ET ... ... ... e,
01. Chlorine (FRA) 02. Nitrogen (AT ©O00
03. Ammonia (3if==m) 04. Sulphur (I&reR)

06. Which gas is responsible for the “Global Warming”?
STk ATIHTETER ShIUTAT ST ShRUT A 378 ? 0000
01. Carbon (ehTeiA) 02. Oxygen (3Tifera=TT)
03. Nitrogen (ATEEIH) 04. Carbon dioxide (ShTeF SRISTFATEE)

07. Who has discovered telephone? e e ot e ?
01. Rite Brothers (WEE 31) 02. John Walker (9 afert ) O00O0
03. Graham Bel (30 o) 04. Macmillan (Werftrer )

08. India’s first satellite Aryabhatta was launched on which day?
HRATH UTEeAT SUIE SARIHEE hivTe fEasht STaehivTa HISvard JTET ? 0000
01. 19 April 1975 (2% Uit §]0k) 02.28 Nov. 1985 (¢ AEg. $3¢k)
03. 20 Aug. 1975 (R0 AFRE 9]64)  04.4 Aug. 1971 (¥ TR 236%)

09. Who is the chairman of ISRO during Chandrayaan 3 mission?
TG 3 WRHETA ST AL RIT AT 2
01. S. Somanath (TH. TEATA) 02. Tessy Thomas (2t &THH)
03. Nambi Narayanan (F&ft F0@UE) 04. Nandini Harinath (Rfet gfner)

0000

10. Whattime did Chandrayaan 3 exactly land on the Moon as per IST?
YR THIUT FSTAR TG — 3 THeh Tehdl STetar SIger Sate ?
01. 5:30 pm IST (HRES THIUT ABTEAR HEATHRTEAT &3 0 ST ) 0000
02. 6:04 pm IST (HREIE JTHIUT ABTEAR HEATHTEAN € : 0% ST )
03. 6:30 pm IST (HREE THIUT ABTER HEATHTEA! &:3 0 ST )
04. 5:44 pm IST (HRETE THIUT ABTER HEATRTEA! & : ¥ ST )

11. India’s first human space mission “Gaganyann” will be launched in which
year?
WRATEH Uigeit HFE 3aiies A “TRTHA” ShiuTedt J9ui Teifud shell STed ?
01. 2022 02. 2023 03. 2024 04. 2025

0000

12. What are the consequences of excessive use of media?
ST STRETIS FT R f 2
01. Disorder of eyes and back (SeaTel & U 3R )
02. Hearing impairment (EUEN)
03. Ignorance towards outdoor games (ﬁaﬁ]‘@mgﬁa)
04. All of the above (iliet @d)

0000

13.  Which country launched the second satellite, Noor-2, into space in March
20227

VT AITH HTE 2033 WEd -2 1 THY IUE HAGTHE HIESH ? 0000

01. Israel (FEEA) 02. UAE (JT8)
03. SaudiArabia (di<t 3Rfe=@T)  04. Iran (30T)
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14. Space Application Centre (SAC)islocated at .............

T FCARIA HEX (SAC) wovrvveninnes A% . 0000
01. Mumbai (J&E) 02. Ahmadabad (3{gHeTR)
03. Trivandrum (Breigm) 04. None of these (A<t ATEY)

15.  Which organization developed Indian robot named “Vyommitra” ?
SN AT WRAR e hivTean T st et ?
01. C-DAC, Pune (€1-%, qul)  02. ISRO (3&1)
03. TIFR 04. DRDO (Stergian)

0000

16. Which indian institution developed an intensive care unit (ICU) grade venti
lator under the name of ‘Project Praana’?
THUTAT WA TEAA “TSiere T0T” 91 A1 SAfageran fawm (Icu) e=t=
feoret et 0 2 o000
01. Indian Institute of Science (11Sc) (3‘%22{7[3'%233 ST |TIH)
02. AIIMS (T) 03. lIT-Delhi (STa=A-faee)
04. lIT-Patna (TES=E-U2un)

17. India’s first super computer PARAM 8000 was launched in year
WRATAIE Ufeet] FUr hivger PARAM 8000 WER &<l SHivdTd SATEAT. 0000
01. 1990 02. 1991 03. 1989 04. 1992

18. ISRO successfully conducted a 25-second qualification test for which of
it's engine to be used under the Gaganyaan mission, in January 20227

TEIH TR 2072 & A oM Siaiia amoiedn STuT=At shioted

TRFETS 24 TehaT=Il UTSdT STEU TORE R Yde! ? COO0
01. Vikram (fersrm) 02. Param (U%®)
03. Vikas (fererm) 04. Paramarsh (SRTd)
19. Whatis the name of the first Indian missile?
UfRedn WA SUUTRET=! AT & 3718 ? 50060
01. Agni (3T) 02. Sagarika (WRTHEAT)
03. Prithvi (g2sft) 04. Dhanush (¢199)
20. The Chandrayaan-3 lander will be able to stay on the Moon’s surface for?
ATGAT— 3 TSN TAGTAT YESHITIER {ohelt s TG IThe ? 0000
01. 1 Day (3 @) 02. 2 Week (2 sT@a=1)
03. 1 Month (§ |fgam) 04. 6 Months (& Afga)
21.  Who invented the dynamite? STEFTHTEZSI INET ShIUT STEetl ?
01. Marie Curie (Wit &=IfY) 02. Alfred Nobel (3TTethe iee ) 0000

03. Joseph Black (E®s&ek)  04. Daniel Rutherford (SFae Eat@iE)

22. Which other planet have life on it similer to earth?

YT FS{ERTSet AT Ug hIUTT ?
01. Venus (3h) 02. Jupiter (&) OXOXOXO)
03. Mars (W) 04. None of the Above (ITa<R! ATEY)
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23. Whofirst created ammonia gas?
TR ST TS It TR et ?
01. Priestley (fRea) 02. Rutherford (Fet®Ig)
03. Davies (3E®) 04. Orchimedes (3TehTHSINT)

0000

24. National Science Day celebrated on
TeEfmm R ... T | ST,
01. 5 June (& 5[A) 02. 10 June (%0 S[A)
03. 22 March (R W)  04. 28 February (3¢ Wsar)

0000

25. The revolution of the earth and the inclination of its axis give rise to

QAT HeToreT 3181 F U2eil URSH0T IS ... i 2.
. O0O0O0

01. Summer (3gT1) 02. Winter (Te&amest)

03. Rainy season (UTaETeT) 04. All of these (i1 @d)

26. Theinstrumentis used for deecting electric currentis

. OXOXOXO,
01. Galvanometer (TesgE?) 02. Tube tester (Z\'ﬂ:q’é‘l%'{)

03. Altimeter (31feeHier) 04. Fathometer (WamIeR)

27. Whatis the name of India’s second permanent research centerin
Antarctica?
ieTfréRmENier HRATEA ST SHIEHETEUT HINYA ShgTe e i 3718 ? 0000
01. Dakshin Gangotri (Sféror Tm=i) 02. Maitri (F=fY)
03. Chakra (¥IsR) 04. Sweta (F)

28. Desktop Computers, laptop computers, tablets and smartphones are

different type of
Trheia wiEeR, T, Saoe A WERAT ... 2 faftre e amga. | OO O O
01. Micro computers 02. Mainframe computers
03. Super computers 04. Mini computers
29. “Electricbulb” wasinventedby _ andhe was from .
TAfdeeh e AT MY ... Tt ATAT Bl ST oLl Jefier 2.
01. Col. J. Schick, USA (e 3. 9T, Juen) 0000

02. J. Harrison and A Catlin, England (. gR@m 31fot U, shefem, So)
03. Thomas Alva Edison, USA (&It 37eaT TieeH, Judu)

04. Sir Humpherey Davy, England (¥R g% 2, 3708)

30. The fastest super computer of India

HRATATA AT A U BIFIN ............
01. AKA-100 02. Param 8000 (4% ¢000) COOO
03. Param Yuva-Il (GA gAT-3) 04. SAGA-500 (EFTI-%00)
31. India’s first supercomputer was built by which institute in Pune?
HRAT UTeA! HETTUTeh YUt AfeT ShIvTed e TR hetl ? 50060

01. C-DAC 02.B-DAC 03.C-CAC 04.B-BAC
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32. Which of the following statements are correct regarding Astra missile?
I YUUTIEATSTS WTeTceTdeh! hiuTdl frem srisR ST ?
01. Itis an air-to-air missile indigenously built by DRDO

(2 SteTEtan J TEYit aaeiel gaqd gad HRT ShivR SIIUTRA 312, )

02. It can intercept target aircraft at supersonic speed O000

(% GORGITER SR 181 Sheted farHHi=T I Iiehd )

03. Ituses an indigenous liquid fuel propellant.

(ITER TPt ga A TUTEeh aTuRuaTd 31TA 311R)
01. Only 2 (e ?) 02. Only 1 and 2 (e § 37Ut ?)
03. Only 1 (%er §) 04. Only 1 and 3 (Fehd § 3mfuT 3)

33. Who developed Ballistic Missile?
Sfesfreeh Qoo wivh feesfm F 2

01. J. Robert Oppenheimer (S Teld 3NUAETE) 0000
02. Samuel Cohen (HF3Te higH)

03. Edward Teller (Tsa8 o)
04. Wernher Von Braun (3-& 914 5it)

34. Whatis the name of the Light Combat Aircraft developed by India indig

enously?

URAT TSN R getari TeTs: |t A1 it 3118 ? O0O0O0
01. Chetak (Jreh) 02. Tejas (A=)

03. Astra (319) 04. BrahMos (5/@N4)

35. Whatis the S.I. unitof frequency?
TRENA™ UH, 374, Teheh o T8 ?
01. Diopter (SE3ATER ) 02. Second (¥<ha)
03. Hertz (3E3) 04. Meter (HieR)

0000

36. Acid turns blue litmus paper into which color?
s e forena vaien shiuTen T Sgedl ? 0000
01. Black (shTeaT) 02. Blue (fe1)
03. Red (€re) 04. Orange (h9Td)

37. Which of the following gland is present in the human mouth?
e AT WTetieTdent ShiuTd Jeft 3/a ?

01. Adrenal (S1TergeRe) 02. Pituitary (Tregedt)
03. Gonads (Tﬁ=|1'sf{=l) 04. Salivary (+11e5)

0000

38. Which mode of transport is most ecofriendly?
THIVTAT ATEEhIEN Tt Heid ST TaieuT Jieh 3118 ? 0000
01. Bicycle (®m&@het) 02. Bus () 03. Aeroplane (fem™) 04. Truck (2)

39. Which is the correct equation for ohm’s law?

aigurean e w9 i ? O00O0
01. V=IR 02.V?=IR? 03. I?’=RT 04. None of the above
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40. Where is continuous 12 hours day and 12 hours night?
Haa ¢ A fgad 9 9 AT U s 3Ed ?
01. Tropic of Cancer (%&a@) 02. Tropic of Capricorn (HeRged)
03. the equator (fergerere) 04. None of these (ITa<h! ATEY)

0000

41. When was India’s first nuclear reactor ‘Apsara’ commissioned?

WRATH! UTgell SUIHET STCHN Shegl Y& THuaTd STTeH 7 0000
01. 1950 02. 1967 03. 1946 04. 1956

42. Which gas is found in both natural gas and dung gas?
o T SAIUT TR 76 AT SRS STETHUTRT T ShIUTT ?
01. Methane (fH2R) 02. Butane (Egiﬂ)
03. Ethylene (3fafer) 04. None of these (ITA<hT ATE)

0000

43. Which of the following phenomena is harmful to ozone gas?

WA HIVTAT Tk SN TR SRR L ?
01. Chlorofluorocarbons (SRR <hie)

02. Nitrogen (FATEEI=A)

03. Oxygen (STTeFHTH)

04. Carbon dioxide (ShTelF SRISTFATEE)

0000

44. What is the other name of Newton’s first law of motion?
AN TelieA Ufgedn FHEmT geR ATa i TR ?
01. Action-reaction (fsran—ufafskam)
02. Change in momentum (TTEWER FTA)
03. Law of inertia (Secamen fA=m)
04. Constant momentum (Fed=n Treit)

0000

45. Who is the main producer of our ecosystem?
JTIEHT UG & SeUTEeh hivT 3TE ?
01. Humans (HTUTH) 02. Plant (G- aedt)
03. Animals (SIToft) 04. Bacteria (fsamy))

0000

46. Who developed the basic architecture of computer?
TATUTRTE HEAY T hivit ferhferd sheft ?
01. Blaise Pascal (SHZI UR=hei) 02. Charles Babbage (TTed sfat)
03. John Von Neumann (S & =I99)  04. None of these (IR )

0000

47. Which of the following format is used to store data?
WTeTUeh! SHITTAT HiTHE 22T AISTUIHETES! ST STl ?
01. Decimal (S919T) 02. Octal (3tfeFee)
03. BCD (sfiEt) 04. Hexadecimal (Foramefamet)

0000

48. What does one thousand bytes represent?
Tk E9TR 3¢ hiE g ?
01. Kilobyte (KB) (ferenage) 02. Megayte (MB) (WT=ITEe) 0000
03. Gigabyte (GB) (frage)  04. Terabytes (TB) (2ETEe)

NSTS ADVANCE LEVEL EXAM 2023 Page No. 06 to 10



49. Whatis diamond scientifically? (I g &1 72U S ?)

01. precious stone (HieIa™ &) 02. Carbon (STeA) 0000
03. mineral (@A) 04. None of these (ITahH! ATET)

50. Astronomers have discovered the oldest super-massive black hole
called
AN ... AT FETd A U -HIHeg 5616k 2Ict YA SR, 0000
01. ULAS J1342+0928 02. ULAS J1120+0641
03. ULAS K1120+0641 04. ULAS K1342+0928

51.  On which of the following date, the minimum distance between the Earth
and the Sun occurs?

WICATdeh! ShIUTeAT ARG G2t STTTUT G ATSATAIA TehHT TR 318 ? 0000

01. 4 January (¥ SHa™) 02. 25 December (R4 fE8=)
03. 21 June (¢ @) 04. 6 July (& S&t)

52. Asatellite is used for
..... TSt SUUZ ATIEAT ATt

01. Communication (FaT@) 02. Wheather forecasting (™A 37a) OXOXOXO)
03. Agriculture and forestry (It STTfoT a-tertun)
04. All the above (a¥iet &d)

53. Whatis the name of the Aero-space company owned by billionaire Jeff Bezos?
SASAENTT A A AT AT TIRIE HU-Tl ATe i 3ATg ? O00O0
01. Space-X 02. Amazonia 03. Blue Origin  04. Dragon

54. Recently India commissioned its first liquid mirror telescope at -

RS HRAT A Ufgeitictias R fomeha ... Y G hedl.

. OXOXOXO,
01. Himachal Pradesh (fRAmeei w@91)  02. Uttarakhand (STRIETE )
03. Ladakh (e1s/@) 04. Arunachal Pradesh (3T&UTRI Se91)
55. Humidity can be measured by -
G ... ISl TS, ITehd.
= 0000

01. Hydrometer (SEIEHISR) 02. Hygrometer. (3TaRndieR)
03. Pyrometer (ArRIHIEY) 04. Lactometer (viareiHie)

56. Which of the following is known as India’s first solar-powered village?

WTATCTUh! ShIUTA TS HRATA A Uldel SRSNTER ATAUTR T FgUH SesEet
T ?

01. Chitrakoot - Uttar Pradesh (ﬁﬂ?ﬁd — ITIAYN) 0000
02. Modhera - Gujarat (Wiedl — T[<RT)

03. Damoh - Madhya Pradesh (SAg — HeX T29)

04. Agasthiyamalai - Tamil Nadu (STTTEqEWeTE — AHeATS)

57. Indian Gandhi Centre for Atomic Research, Kalpakkam is located in -

TR TR ST AN The, HETFRT ......... J9Y 3R,
01. Karnataka (SHies) 02. Tamil Nadu (ATf#esTg) 0000
03. Andhra Pradesh (3 9a91) 04. Kerala (3a)
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58. On which day, India successfully conducted second nuclear test?
A ST G HUTeITeuR shiorean foaeht svreeifican ar urset ?
01. 18 May 1974 (3¢ ® §39%¥)  02. 20 March 1993 (R0 HTE §3%3)
03. 11 May 1999 (2% ® 23%%)  04. 17 April 1996 (%'e Uit $3%€)

0000

59. Who gave the first evidence of the Big Bang theory?

for =i fregraren ufgen guran wivft e e
01. Edwin Hubble (Tefem ga)
02. Albert Einstein (37652 3Mg=eTEA) 0000

03. S. Chandrashekhar (T8, Sg9ER)
04. Stephen Hawking (¥YFA giferT)

60. The working of a rocket is based on the principle of -

01. electricity (&) 0000
02. Kepler's Law (Sheeeen f=m)

03. Newtons’s Law (Wﬁ?m)

04. Conservation of momentum (FaT 31e1=aT)

61. The mostabundantelementin the earth’s atmosphere is -

<

01. Carbon dioxide (STeH SE™3TeAEE) 02. Hydrogen (gErEIeA)
03. Oxygen (3iiferasM) 04. Nitrogen (T=2Ie)

0000

62. Who among the following is regarded the Father of Internetin India?
WIATAUh! ShITTTAT HRATAT ST STHeh AT ST ?
01. Brijendra Kumar syngal (fsrig Sar feer)
02. Sam Pitroda (¥ fu=tieT)
03. Pandit Sukhram (dufed G&™)
04. Rajiv Gandhi (Trsfa mieft)

0000

63. Who discovered the atom bomb? STUTHTFEEI JTIET ShIUT CATEEAT ?
01. Otto Hahn (3T &) 02. Albert Einstein (3fea ageegd) | OO OO
03. Edison (ufgaa) 04. Lord Rutherford (FiTE &ewhIE)

64. Which of the following is used by T.V. remote control units to operate a
T.V. set

A1 T ITAIUATETS WIGedeh! shivTd 21,581 fHe el ge aaa? |00 0 O
01. Infrared (33FRE) 02. Sound Waves (&&=t &ig{)
03. Microwaves (ATIhIgER) 04. Rediowaves (fg3naeR)

65. Whatis the name of the world's first nuclear reactor?
ST Ofgeett SFUNE 1 T A ?
01. Chicago Piles 1 (Prpmmi uged—¢)  02. Manhattan (HAgeA)
03. Chernoby! (SFifsreT) 04. Apsara (3T59T)

0000

66. 0.4x0.4+0.04x0.04+0.04="7
1)0.20 2)0.38 3)0.16 4)0.46 OO0O0O0O
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67. Average of five numbers is 20. If each number is multiplied by 2, what will
be the new average?
T AT TE 20 3R, Tedsh GEHl R 4 PR hea@ g s (OO0 OO
ferclt ar@e ?
01. 30 02.40 3) 50 4)60

68. Find the number that can complete the following series.

WA TCATHICTR T $hH 3T TI-e-aTedT SIRT UTRIT ST e,

O0O0O0O
3,5,11,29,83,?
01. 245 02. 249 3) 248 4) 246
69. Harsh and Siddharth were specking with each other. If Harsh is facing to
the North-East, then Siddharth’s left hand will be towards _ direction.
7o @ Rrgened GEREER 39 TEH THHRTN St gid, SR gu Sigd 9
faren e R frgeneiean STe graTen T R o ? 0000
01. South West (f&ex)  02. North West (aT&ex)
03. North (3eR) 04. South East (311=3)
70. 1f40% of an amount is 250, what will be 60% of that amount?
TR 40% TeFR® 250 TS, T 1 ThHAT 60% Tehet /@, 0000
01. 300 02. 320 03. 375 04. 400
71. Find the HCF of 210, 385 and 735.
210, 385 SfUT 735 = WHETE 0. O00O0
01. 7 02. 14 03. 21 04. 35

72. What smallest number should be subtracted from 9805 so that it is divisible

by 8? 9805 W SHIUTAT T WA ISTl Shilelt U ot 8 4 fawiv@ . (O 0O 0 O

01. 3 02. 4 03. 5 04. 7
73. {[2+3)x2]+(4-2)}x4= 0000
01. 20 02. 16 03. -20 04. -16
74. Find the number which can replace the question mark?
A TIRgTeaT ST ST SEa el ?
il i! i4 0000
5 3 4 3 6 5
01. 21 02.40 03. 50 04.44
75. How many rectangles are there in the given figure?
TR ST T fohelt ?
O00O0
01. 20 02. 30 03. 54 04.60
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76. Pairs of twin prime no.s between 1 to 100

2 200 MM ............ TIE b A1 SaT. 0000
01. 8 02. 9 03. 10 04. 01

77. Simplify: (¥ ¥4 =1.)
[823 + (- 398)] + [413 - 312 + (- 400)] - (-30) + 286 - {( - 115) + 117} OXOXOXO,

01. -440 02. - 287 03. 287 04.440

78. Inasymbolic language SUN= 8613, RUN =9613, PUT = 1167 then
TOP =7
TehT Hichideh WA SUN= 8613, RUN = 9613, PUT = 1167 W TOP = ?
01. 20147 02. 71211 03.1271 04. 11712

0000

79. Arya has 3 uncles. Satish is one of his uncle. How many son are there to
Satish’s mother?

HTATAT 3 THTeHT TR, HTATSH TehT Tk ATE T R, WAV HAGAT | O O O O

TR fohelt et 2

01. 4 02. 3 03.5 04. 2
80. is known as Missile Man.

.......... 1 T 1A TEuE St S

01. Dr. C. V. Raman (. |t. &i. T9)
02. Dr. Homi Bhabha (f. 2t )

03. Dr.A.P.J. Abdul Kalam (. T.9. 3. $7eget eT™)
04. Fleming (WAfeT)

0000
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